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The emerging OECD 2030 framework can be visualized like this:

What do children have to learn?

Disciplinary knowledge
Interdisciplinary knowledge Kn owledge
Practical knowledge
Cognitive and meta-cognitive skills
Social and emotional skills Skills Competencies
Physical and practical skills
Attitudes &
Values

http://www.oecd.org/education/2030/
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[H*] : 0.2~1.0 M 2 [

[1,7] : 0.0005~0.002 M [

[(CH,),CO] : 0.5~1.5M [
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V] 2% | 5[ |0.01M |2M HCl (B) 2% | 75 | 0.01M |2M HCl
mL) | Kl;(mL) | (mL) (mL) KI3(mL) (mL)

2 1.0 1.0 0.5 2 20 20 0.5
3 10 0.5 1.0 3 20 20 1.0
(o) =F 0.01M |2M HCl (D) 0.01M
mL) | Ki;(mL) Ki;(mL)
1 20 20 03 1 10 1.0 0 1.0
2 20 20 537% 2 1.0 1.0 0.5 0.5

3 20 20 10774 0 1.0 1.0 0
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